

ឧទាហរណ៍: ឧបសគ្គ ៣.៤

$$\begin{array}{l} 6.) \int \ln x \times \ln(\cos x) dx \\ 8.) \int x^3 e^{x^2} dx \end{array} \quad \left| \quad \begin{array}{l} 10.) \int e^{x \arccos(x)} dx \\ 11.) \int \frac{x e^x}{(x+1)^2} dx \end{array} \right.$$

ឧទាហរណ៍: ឧបសគ្គ ៣.៨.៧

$$\begin{array}{l} 2.) \int \ln^5(2x) \cos(2x) dx \\ 6.) \int \ln^4(2\theta) d\theta. \end{array} \quad \left| \quad 5.) \int \ln^4 x \cos^3 x dx \right.$$

ឧទាហរណ៍: by parts:

$$6.) \int \ln x \times \ln(\cos x) dx = \int u \times dv$$

$$\begin{array}{l} u = \ln(\cos x) \\ \int u \times dv = \int \ln x dx \\ v = -\cos x \end{array} \quad \left| \quad \begin{array}{l} = (\ln(\cos x))(-\cos x) \\ - \int -\cos(x) \underbrace{d \ln(\cos(x))}_{= \frac{1}{\cos x} (-\sin x) dx} \\ = -\ln(\cos x) \cos x - \int \cancel{\cos x} \frac{1}{\cancel{\cos x}} \sin x dx \\ = -\ln(\cos x) \cos x + \cos x + C \quad \square \end{array} \right.$$

$$\begin{aligned}
 8.) \int x^3 e^{x^2} dx &= \int \underbrace{x^2}_u \cdot \underbrace{x e^{x^2}}_{dv} \quad \left| \begin{array}{l} u = x^2 \text{ var by parts} \\ dv = x e^{x^2} \\ v = \frac{e^{x^2}}{2} \end{array} \right. \\
 \text{by parts} &= (x^2) \left(\frac{e^{x^2}}{2} \right) - \int \frac{e^{x^2}}{2} d(x^2) = u. \\
 \text{1st derivative} &= \left(u = x^2 \right) = \frac{x^2 e^{x^2}}{2} - \int \frac{e^u}{2} du \\
 &= \frac{x^2 e^{x^2}}{2} - \frac{e^u}{2} + C = \frac{x^2 e^{x^2}}{2} - e^{x^2} + C \quad \text{since } u = x^2.
 \end{aligned}$$

$$\begin{aligned}
 10.) \int \underbrace{e^x \operatorname{arccoth}(e^x)}_u dx & \quad \left| \begin{array}{l} u = \operatorname{arccoth}(e^x) \\ dv = e^x \\ v = e^x \end{array} \right. \\
 \text{by parts:} &= (\operatorname{arccoth}(e^x)) \cdot e^x - \int e^x d \operatorname{arccoth} e^x \\
 &= \frac{1}{\sqrt{1-(e^x)^2}} \cdot e^x dx \\
 &= e^x \operatorname{arccoth}(e^x) - \int \frac{(e^x)^2}{\sqrt{1-(e^x)^2}} dx \\
 &= e^x \operatorname{arccoth}(e^x) - \int \frac{(1-u)}{\sqrt{u}} \cdot \frac{-1}{2(1-u)} du \\
 &= e^x \operatorname{arccoth}(e^x) + \int \frac{1}{\sqrt{u}} du
 \end{aligned}$$

$$\begin{aligned}
 &[(e^x)^2 = e^{2x}] \\
 &\text{1st derivative} \\
 &u = 1 - e^{2x} \\
 &du = -2e^{2x} dx \\
 &dx = \frac{-1}{2e^{2x}} du \\
 &\quad \quad \quad = \frac{1}{2(1-u)} \\
 &\text{2nd} \left[\frac{e^{2x}}{1-u} = \frac{1}{1-u} \right]
 \end{aligned}$$

(ကဏ္ဍ ၁ နှင့်)

11.) $\int \frac{(xe^x)^2}{(x+1)^2} dx$

$u = xe^x$
 $du = (x+1)dx$

$\int \frac{u^2}{(x+1)^2} dx$

$v = -\frac{1}{x+1}$

by parts:

$$= \frac{-x e^x}{(x+1)} + \int \frac{1 \cdot e^x}{\cancel{(x+1)}} \cancel{dx} dx$$

$$= \frac{-xe^x}{(x+1)} + e^x + \underline{C}$$

122 ~~Chapter~~ 3.5.

$$2.7 \int \ln^5(2x) \cos(2x) dx$$

3.1122: $\int_0^1 x^n e^{nx} dx$

④ $m \rightarrow 1$ $\frac{1}{2}$

$$-u = \cos x$$

$$- \ln u \quad \text{d} \ln^2 x = 1 - \cos^2 x$$

for $u = \cos(2x) \Rightarrow du = -2 \sin(2x) dx \Rightarrow dx = \frac{du}{-2 \sin(2x)}$

$$\text{2. qd.} = \int \underbrace{\sin^4(2x) \cdot \sin(2x)}_{= (\sin^2(2x))^2} \cdot \cos(2x) \cdot \frac{du}{-2 \sin(2x)}$$

$$\text{mit } [\sin^2(2x) = 1 - \cos^2(2x)]$$

$$\text{u = cos(2x)} = \frac{1}{(-2)} \int \underbrace{(1 - \cos^2(2x))^2}_{u^2} \cdot \underbrace{\cos(2x)}_u du$$

$$= -\frac{1}{2} \int (1 - u^2)^2 \cdot u du = -\frac{1}{2} \int (1 - 2u^2 + u^4) \cdot u du$$

$$= -\frac{1}{2} \int u - 2u^3 + u^5 du = -\frac{1}{2} \left[\frac{u^2}{2} - \frac{2u^4}{4} + \frac{u^6}{6} \right] + C$$

$$\text{mit u = cos(2x)} = -\frac{1}{2} \left[\frac{\cos^2(2x)}{2} - 2 \frac{\cos^4(2x)}{4} + \frac{\cos^6(2x)}{6} \right] + C$$

5.1 $\int \sin^4 x \cos^3 x dx \rightarrow \text{Wahl 2: u = cos x}$

$$\left[\begin{aligned} \Rightarrow u = \sin x &\Rightarrow du = \cos x dx \\ &\Rightarrow dx = \frac{du}{\cos x} \end{aligned} \right]$$

- $u = \sin x$
- $\cos^2 x = 1 - \sin^2 x$

$$\text{2. qd.} = \int \sin^4 x \cos^2 x \cdot \cancel{\cos x} \cdot \frac{du}{\cancel{\cos x}}$$

$$(\cos^2 x = 1 - \sin^2 x)$$

$$= \int \sin^4 x (1 - \sin^2 x) du$$

$$(\text{mit } u = \sin x) = \int u^4 (1 - u^2) du = \int u^4 - u^6 du$$

$$= \frac{u^5}{5} - \frac{u^7}{7} + C$$

$$\text{limu} = u \text{ and } \frac{\sin^5 x}{5} - \frac{\sin^7 x}{7} + C$$

$$6) \int \sin^4(2\theta) d\theta$$

$\Rightarrow$ (work: use reduction formula (n=0))

$$\text{sol} = \int (\sin^2(2\theta))^2 d\theta$$

$$\left[\begin{aligned} \sin^2 x &= \frac{1 - \cos(2x)}{2} \\ \cos^2 x &= \frac{1 + \cos(2x)}{2} \end{aligned} \right]$$

$$= \int \left(\frac{1 - \cos(4\theta)}{2} \right)^2 d\theta$$

$$= \frac{1}{4} \int 1 - 2\cos(4\theta) + \underbrace{\frac{1 + \cos(8\theta)}{2}}_{\cos^2(4\theta)} d\theta$$

$$= \frac{1}{4} \int 1 - 2\cos(4\theta) + \frac{1}{2} [1 + \cos(8\theta)] d\theta$$

$$= \frac{1}{4} \int \frac{3}{2} - 2\cos(4\theta) + \frac{1}{2} \cos(8\theta) d\theta$$

$$= \frac{1}{4} \left[\frac{3\theta}{2} - 2 \frac{\sin(4\theta)}{4} + \frac{1}{2} \frac{\sin(8\theta)}{8} \right] + C$$

$$\begin{aligned} & \int \cos 4\theta d\theta \\ &= \int \cos(u) \frac{du}{4} \\ &= \frac{\sin(u)}{\frac{4}{1}} = \frac{\sin(4\theta)}{4} \end{aligned}$$

$u=4\theta, du=4d\theta$

$\Rightarrow$ Integration by parts

$$\int \tan^m x \sec^n x dx$$

Recall: $\tan^2 x = \sec^2 x - 1$

$\sec^2 x = \tan^2 x + 1$

Integration by parts:

$d \tan x = \sec^2 x dx$

$d \sec x = \sec x \tan x dx$

$$\begin{aligned} \frac{\sin^2 x + \cos^2 x}{\cos^2 x} &= 1 \\ \Rightarrow \tan^2 x + 1 &= \sec^2 x \end{aligned}$$

Ex: $\int \sec^3 x \tan x dx$

$\int \sec^3 x \tan x dx$

$$\begin{aligned} u &= \sec x \\ du &= \sec x \tan x dx \\ dx &= \frac{du}{\sec x \tan x} \end{aligned}$$

$$\int \sec^2 x du = \int u^2 du = \frac{u^3}{3} + C$$

$$= \frac{\sec^3 x}{3} + C$$

Integration by parts:

1.) $\int \sin(mx) \cos(nx) dx$

2.) $\int \sin(mx) \sin(nx) dx$

3.) $\int \cos(mx) \cos(nx) dx$

9890909:

$$\sin(mx) \cos(nx) = \frac{1}{2} [\sin((m-n)x) + \sin((m+n)x)]$$

$$\sin(mx) \sin(nx) = \frac{1}{2} [\cos((m-n)x) - \cos((m+n)x)]$$

$$\cos(mx) \cos(nx) = \frac{1}{2} [\cos((m-n)x) + \cos((m+n)x)]$$

$$\Rightarrow \text{for: } \sin(a+b) = \sin(a) \cos(b) + \cos(a) \sin(b) \quad \text{--- (1)}$$

$$\sin(a-b) = \sin(a) \underbrace{\cos(-b)}_{=\cos(b)} + \cos(a) \underbrace{\sin(-b)}_{=-\sin(b)} \quad \text{--- (2)}$$

$$\text{note: } \cos(-\theta) = \cos \theta, \sin(-\theta) = -\sin \theta$$

$$\text{(1) + (2)} \Rightarrow \sin(a+b) + \sin(a-b) = 2 \sin(a) \cos(b)$$

$$\Rightarrow \underbrace{\sin(a)}_{mx} \underbrace{\cos(b)}_{nx} = \frac{1}{2} [\sin(a-b) + \sin(a+b)]$$

Ex: solve $\int \sin(3x) \cos(5x) dx$

$$= \int \frac{1}{2} [\sin((3-5)x) + \sin((3+5)x)] dx$$

$$= \frac{1}{2} \int \sin(-2x) + \sin(8x) dx$$

$$= \frac{1}{2} \frac{-\cos(-2x)}{-2} + \frac{-\cos(8x)}{8} + C$$

Ex. 6000000 3.5

$$1.) \int \cos^3 x \sqrt{\ln x} dx$$

$$u = \ln x$$

$$du = \frac{1}{x} dx$$

$$dx = \frac{du}{\frac{1}{x}} = x du$$

$$\text{u-sub} = \int \cos^2 x \cdot \cancel{\cos x} \cdot \frac{du}{\cancel{\cos x}}$$

$$(\cos^2 x = 1 - \sin^2 x) = \int (1 - u^2) \cdot u^{\frac{1}{2}} du = \int u^{\frac{1}{2}} - u^{\frac{5}{2}} du$$

$$= \frac{2}{3} u^{\frac{3}{2}} - \frac{2}{7} u^{\frac{7}{2}} + C = \frac{2}{3} (\ln x)^{\frac{3}{2}} - \frac{2}{7} (\ln x)^{\frac{7}{2}} + C$$

$$3.) \int \cos^2(\pi x) dx \quad \text{fo} \quad \cos^2(\pi x) = \frac{1 + \cos(2\pi x)}{2}$$

$$= \int \frac{1 + \cos(2\pi x)}{2} dx = \frac{x}{2} + \frac{\sin(2\pi x)}{2 \cdot (2\pi)} + C$$

$$7.) \int \sin(3\theta) \sin(3\theta) d\theta : \text{fo. } \sin(mx) \cdot \sin(nx) = \frac{1}{2} [\cos((m-n)x) - \cos((m+n)x)]$$

$$= \int \frac{1}{2} [\cos((1-3)\theta) - \cos((1+3)\theta)] d\theta$$

$$= \frac{1}{2} \int \cos(-2\theta) - \cos(4\theta) d\theta$$

$$= \frac{1}{2} \left[\frac{\sin(2\theta)}{-2} - \frac{\sin(4\theta)}{4} \right] + C$$

$\Rightarrow$ ທຳລາຍ: ແບບລັກສະນະ 3.5

$$9.) \int \cos(4\theta) \cos(-3\theta) d\theta$$

$$10.) \int (\sin x + \cos x)^2 dx$$